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2AM: MsXs
M AU M W=E AT MEH(2JALBB/US)
Sel MSESE NLE S4 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
(@F=F=E=:]| 222,053
o&el=¢ 362,400
-2 5 19,200
-2 X 7,200
- 336,000
OIE=Y 13,680
—-bif < Xt 8,640
-2 2AIIF 5,040
O==H| 96,000
Oxa= 160,000
OdXIE2d & a3 &Iyl 800,000
O& X =&l 400,000
-=2UHEzH 160,000
-=2&d 240,000
O3l &Il 400,000
-= L} 160,000
-= 2| 240,000
O& =2 x4l 480,000
SHAZL=X &) L b 4 870,000 870,000 0
307 QI2t01 ™ 150,000 150,000 0
02 ABMNBXZ 150,000 150,000 0
o=2d%gE P4 &85 B4 150,000
703 D=RHIEYIHNENES 720,000 720,000 0
01 NEREISEIIAHNES 720,000 720,000 0
Ostuw A& 560,000
Osz X 160,000
HEIIBAIE &= 27,632,866 25,842,866 1,790,000
2 9,622,000
Dl 5,682,000
& 12,328,866
HMEAE &5 2435 9,866 9,866 0
202 04d| 9,866 9,866 0
01 2L Y| 9,866 9,866 0
SEMSAEY HHES0 L oM EH 2,000
OS3HEAE ESAIY =X 7,866
23 H=SAE &= 6,490,000 4,750,000 1,740,000
403 XX S S K201 A 6,490,000 4,750,000 1,740,000
01 AXHNMAHEE = 6,490,000 4,750,000 1,740,000
ON=MEXNZUEN FINE &bl 1,750,000
OMEMEAIAE A8 L HES 1,740,000




2N
X ZH -
L= B

el

SR R=,
25 Hs @@= AT A (222 /US)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ3ELUN=UZ MHE XA 3,000,000
ALY A 2e] 1,210,000 1,270,000 260,000
307 21201 A 10,000 10,000 0
02 B AEXRS 10,000 10,000 0
OAJNHEZIE FIS(ZHMAI AW )OI S H A 10,000
403 MHXSHHSA=0l& 1,200,000 1,260,000 A 60,000
02 S| 2 S0il CH &tHCH & A H 1,200,000 1,260,000 A 60,000
OsHAZ=AA S 2 1,200,000
=& ZOMEY 2242 (20) 132,000 836,000 A704,000
& 90,000
= 42,000
403 MtXISHH S0l & 132,000 836,000 A704,000
& 90,000
< 42,000
01 XM A=2EE 132,000 836,000 A704,000
OFEd IZoldsa 222 132,000
& 90,000
< 42,000
Sofl T2 ZTARE 24(2D) 220,000 0 220,000
& 150,000
= 70,000
403 A X EHHS =0l A 220,000 0 220,000
= 150,000
< 70,000
01 AXISHHX2E = 220,000 0 220,000
OSH ZHREY FATH =4 220,000
& 150,000
< 70,000
2T EHEOIRE L olgtel AHOIERH (=) 440,000 0 440,000
& 300,000
< 140,000
403 MHXSHHSA=0l& 440,000 0 440,000
= 300,000
< 140,000
01 HXSHMA=E X 440,000 0 440,000
O3 HH&E or& & eletel AJH0EH 440,000
= 300,000
< 140,000
EHe BN SSRES(22) 1,144,000 0 1,144,000
& 780,000
< 364,000
403 MtXISHH S0l & 1,144,000 0 1,144,000
& 780,000
< 364,000




2A4: MEIEDL
M AU AR W= YAT MEH(SHLBEZ/HR)
e HIFIIBAIE &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 XIS A 2E X 1,144,000 0 1,144,000
OB & XN 2Sd =4 1,144,000
= 780,000
== 364,000
EXM sH=EESHNSAE (=) 704,000 0 704,000
2 480,000
o= 224,000
403 XX SHHS K201 & 704,000 0 704,000
2 480,000
o=} 224,000
01 XIS A2E X 704,000 0 704,000
O sHE=ESHMSAIAE 704,000
2 480,000
= 224,000
SA4 HOolAE HODNE X4(=21) 1,467,000 0 1,467,000
2 1,000,000
= 467,000
403 XX SHHS K201 & 1,467,000 0 1,467,000
2 1,000,000
= 467,000
01 XIS A=2E X 1,467,000 0 1,467,000
O&4d HolAZ= HIOIHA =4 1,467,000
2 1,000,000
= 467,000
g2 SSHSAY HE(=2D) 880,000 0 880,000
2 600,000
& 280,000
403 XX SHHS K20 & 880,000 0 880,000
2 600,000
= 280,000
01 MXHHE2E =X 880,000 0 880,000
O%E SEMsANE HY 880,000
2 600,000
& 280,000
e =S 0WIY MBHSALE H5(21) 528,000 0 528,000
= 360,000
= 168,000
403 XX SHHS K201 & 528,000 0 528,000
2 360,000
o 168,000
01 XS A=2E X 528,000 0 528,000
OEHY S8 01EZR MEHSIANLE &= 528,000
2 360,000
= 168,000
St AL HES22 X4 (=21D) 1,059,000 146,000 913,000




2N
X ZH -
L= B

el

H=dsh
AUE M A=SS AL A (BSHL2E/HK)

- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2

e 722,000
= 337,000

403 XX SHHS K20 & 1,059,000 146,000 913,000
2 722,000
& 337,000

01 XIS A=Z2E X 1,059,000 146,000 913,000
O3IE Al HEZ2d =4 1,059,000
2 722,000
= 337,000

A SoHss 2 2l2d(=21) 880,000 0 880,000
2 600,000
o= 280,000

403 XX SHHMSE X201 A 880,000 0 880,000
2 600,000
=} 280,000

01 XS A=2E X 880,000 0 880,000
oO%F =M=z el2de 880,000
2 600,000
& 280,000

OlHl MatesZ X4(=21) 880,000 0 880,000
2 600,000
= 280,000

403 XX SHHS K20 & 880,000 0 880,000
2 600,000
= 280,000

01 XIS AEZ2E X 880,000 0 880,000
OQH AMatesd X4 880,000
2 600,000
o= 280,000

Yy 2SI AY(2D) 1,687,000 1,466,000 221,000
2 1,150,000
=} 537,000

403 XX SHHS K20 & 1,687,000 1,466,000 221,000
2 1,150,000
& 537,000

01 MXHHXE2E =X 1,687,000 1,466,000 221,000
oYY S HE 1,687,000
2 1,150,000
& 537,000

okol TIM I HIOIZ2R(=21D) 352,000 440,000 A 88,000
2 240,000
= 112,000

403 XX SHHS K20 & 352,000 440,000 A 88,000
2 240,000
o= 112,000

01 XIS A2E X 352,000 440,000 A 88,000




R s R SE=an);
M AU AR W= YAT MEH(SHLBEZ/HR)
S MFIALE &5 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o2 N&EH HOSE 352,000
= 240,000
< 112,000
YR AR AIXXORE TH(=1) 350,000 0 350,000
& 350,000
403 XIS E X201 & 350,000 0 350,000
= 350,000
01 X SHHX2E= 350,000 0 350,000
OZL7 datx AXMCOFRE =4 350,000
& 350,000
A dADSE W AXXORE T4 (=1) 350,000 0 350,000
& 350,000
403 UHXSHHSA=0l& 350,000 0 350,000
= 350,000
01 XM A=LE L 350,000 0 350,000
OFH LAHD AXXLOOIRE =4 350,000
= 350,000
dLEstW 2SE AXIEL ZESAH(=1) 350,000 0 350,000
& 350,000
403 XSS A=0l & 350,000 0 350,000
& 350,000
01 XM A=2E X 350,000 0 350,000
OZEssty 2sd X0 x4 350,000
= 350,000
Y ZE§2SE HEXAY(21) 100,000 0 100,000
& 100,000
403 XIS E X201 & 100,000 0 100,000
= 100,000
01 X SHHX2E= 100,000 0 100,000
Ond ZEg2sd HE=* 100,000
& 100,000
HE EAxE AXACRE ZHMS(21) 350,000 0 350,000
= 350,000
403 X SHHSA=0l& 350,000 0 350,000
& 350,000
01 X ESHHMA=LE L 350,000 0 350,000
0d% EAx AXFOFRE =4 350,000
= 350,000
Efe SX =W AXTEL ZEBA(=1) 350,000 0 350,000
& 350,000
403 UtXISHH S0l & 350,000 0 350,000
& 350,000
01 X SHMA2EE 350,000 0 350,000




M MsSAEL
M AU M W=E AT MEH(2JALBB/US)
S MKIIEAIE &= (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OEHEY & X =x=1W IXAC XN 350,000
=z 350,000
QAF QUE AXXCRE ZHAIE(Z1D) 350,000 0 350,000
= 350,000
403 XX S M S K201 A 350,000 0 350,000
2 350,000
01 AIXISHM A28 X 350,000 0 350,000
O F RUs AXZX(PRE XM 350,000
2 350,000
D S&x AXXOFRE ZH&(=21) 350,000 0 350,000
2 350,000
403 XX S S K201 A 350,000 0 350,000
=z 350,000
01 HXHNMAHEE = 350,000 0 350,000
ONd s&x AXXCFRE =4 350,000
2 350,000
T HEs2 AHE(=2D) 7,000,000 0 7,000,000
Jl 5,682,000
& 1,318,000
401 Al HI L 2 0HHI 15,000 0 15,000
03 A& 2 0HH| 15,000 0 15,000
O H=s3l& HE AIZ=20d] 15,000
403 XtXISHH S K201 6,985,000 0 6,985,000
J| 5,682,000
== 1,303,000
02 3J| 2= 0l CH St CH = AF B 6,985,000 0 6,985,000
Ok M=3& HE A 6,985,000
Dl 5,682,000
& 1,303,000
ZHZAIE 21F O K& 69, 149 72,680 N 3,531
22 AlE oI5t K& 69, 149 72,680 N 3,531
201 Bt 37,269 60,800 N 23,531
01 At 22l b 37,269 60,800 N 23,531
O°Ql3It 249 10,469
OYHUET BEY S =29 26,800
202 04| 11,880 11,880 0
01 2L Y| 11,880 11,880 0
OO0l It HR=X 11,880
207 A IH & H| 20,000 0 20,000
01 A2 sS<H| 20,000 0 20,000
O2H 2=Z& 23 9 20,000




2N
X ZH -
L= B

el

H=dsh
AUE M A=SS AL A (BSHL2E/HK)
dEts JE € 2 s4

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Mz N & ¢ sS4 19,339,852 15,297,172 4,042,680
J| 25,000
=) 19,314,852
£ 4ol MSsEAH 29 - AE 12,704,800 12,587,120 117,680
307 glz2tol & 12,704,800 12,587,120 117,680
02 RIZHENEXS 12,704,800 12,587,120 117,680
O dH=3 N& 9,530,000
Ok ZHeld=s K& 2,025,800
Ok deH=3 XA 1,149,000
oA E 2435t 83,800 53,800 30,000
202 o4dl 3,600 3,600 0
01 = LH o4 1l 3,600 3,600 0
OZMY HMs2HS X 3,600
307 21201 A 50,200 50,200 0
04 BIZHHAIE RS 50,200 50,200 0
OZOL M=Ual XI& 50,200
308 AHAIEHHSOIA 30,000 0 30,000
01 HIXNHHNBHEELES 30,000 0 30,000
OZOMQIALR X & 30,000
Hss 245t 16,252 16,252 0
201 Let24E] 1,500 1,500 0
01 At 22l 1,500 1,500 0
Olsl=EA &4 & =% S WA 1,500
202 4Hl 14,752 14,752 0
01 S LHOIYI 14,752 14,752 0
OMsUsa Mzl € XA 13,752
OdsHHH s4 X 1,000
ZOHQl MEXUSE MHE(=1) 50,000 50,000 0
J| 25,000
< 25,000
307 glz2+ol & 50,000 50,000 0
J| 25,000
< 25,000
04 BIZHHAIE RS 50,000 50,000 0
OZOQ &M= N = 50,000
J| 25,000
< 25,000
ZRFC 43 X 3,000,000 1,000,000 2,000,000
307 21201 A 3,000,000 0 3,000,000
02 2t EXS 3,000,000 0 3,000,000




M MsSAEL
Hz: HAUS HE d=2s LT ASH(2HLAZ/AR)
Sl MSHE NE o SN S4 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OLRFC 2<& XN& 3,000,000
2014 AHE=2EH M=acHAWE JWEXA 300,000 0 300,000
307 QI2t0| ™ 300,000 0 300,000
04 CI2ZtSHAIE == 300,000 0 300,000
o&2ddl X& 300,000
M= MEsUsA HE 2 &It 1,940,000 0 1,940,000
307 QI2t0l ™ 1,940,000 0 1,940,000
04 A2tHAIE X S 1,940,000 0 1,940,000
o294l 1,750,000
O & iyl 190,000
AT =UHE N XA 140,000 0 140,000
308 XX SHHSOIA 140,000 0 140,000
01 AIXHHBAAEXZ 140,000 0 140,000
OZJATUMEEUHS M=K 140,000
MEHSE SSEUE Mz X2 120,000 0 120,000
307 QI2t0| M 120,000 0 120,000
04 A2tHAIE X S 120,000 0 120,000
OMEN= &Y Ua Mzl X3 120,000
A2E L MEAN=UE XA 492,000 0 492,000
307 212t01 & 492,000 0 492,000
04 A2tHAIE X = 492,000 0 492,000
OdCE L MeHsUHa XA 492,000
A& MsHAF XA 378,000 0 378,000
307 QI2t0| ™ 378,000 0 378,000
04 CIZtSHAIE == 378,000 0 378,000
Oded = MsHA K& 378,000
2y =6 €22 ta Al X 30,000 0 30,000
308 XX S M SO0l & 30,000 0 30,000
01 AIXHMBAAEXZ 30,000 0 30,000
ozd =M 222 Utia Mzl X 30,000
SAE2Y =203 HXH 50,000 0 50,000
307 212t01 & 50,000 0 50,000
04 A2tHAIE X S 50,000 0 50,000
oRAHE2Y =2018 M= X 50,000
2015 2 HSAAY(IBF) MAHS3 X 25,000 0 25,000
308 AXISHXMSOIHA 25,000 0 25,000
01 AIXIHMBAEEXZ 25,000 0 25,000




FAM: HEdsh
M AU AR W= YAT MEH(SHLBEZ/HR)
22 Mss N 2 2H 84 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02015 S HSAAW(IBF) MASS XA 25,000
HaZHoHe 8= E§FRUEXE 10,000 0 10,000
308 XXX SOIA 10,000 0 10,000
01 AXNHHBANEES 10,000 0 10,000
OHM123 HaZF0el M=E 203 = 10,000
Mt s SN ot 3,238,248 2,507,402 730,846
J| 2,912,987
< 325,261
MEXEZz )Y 29 200,000 50,000 150,000
308 XtXIEHHSOIA 200,000 50,000 150,000
01 AXSGHBLELS 200,000 50,000 150,000
oMais wa 29 XA 200,000
MEH=Z 2SAA(=Z1) 73,064 73,064 0
| 65,647
< 7,417
307 glz2tol & 14,834 14,834 0
| 7,417
< 7,417
02 QIZtFAE XS 14,834 14,834 0
Ok dexH=ss XA 14,834
| 7,417
< 7,417
308 XXX SO0IA 58,230 58,230 0
| 58,230
01 IXNSHHBAMNEES 58,230 58,230 0
odEN=z 2L 58,230
| 58,230
MENSX =X BHXI(=1) 1,627,296 1,203,360 423,936
| 1,627,296
308 XX EHH SOl A 1,627,296 1,203,360 423,936
J| 1,627,296
01 AXSHBLAELS 1,627,296 1,203,360 423,936
OMEXN=XT A B 1,627,296
| 1,627,296
Hzd dMsgs XNE(=21) 798,104 641,194 156,910
| 775,516
< 22,588
307 glz2+ol & 45,176 45,034 142
| 22,588
< 22,588
02 RIZHEANEXZ 45,176 45,034 142
onza Hszs X 45,176
J| 22,588




M MsSAEL
M AU M W=E AT MEH(2JALBB/US)
Sol: MBS TOIEO s CER-ED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
& 22,588
308 X SHAMSOIH 752,928 596, 160 156,768
Jl 752,928
01 AIXHMBAEEXZ 752,928 596, 160 156,768
oozd H=egs A 752,928
J| 752,928
MESHIRH AIE(212) 539,784 539,784 0
Dl 444,528
= 95,256
308 XX S M SO0l & 539,784 539,784 0
Jl 444,528
& 95,256
01 AXNHMBIAEES 539,784 539,784 0
OAEZXHIRH AIY X2 539,784
Jl 444,528
& 95,256
H=E 2Hns 2435 208,102 165,970 42,132
=N DS E=ImE= 208,102 165,970 42,132
201 LBEt2 A Y| 46,730 32,200 14,530
01 AP 22l Yl 8,000 8,000 0
O=MHM=LE 8,000
03 S AIS H I 38,730 24,200 14,530
O=MM=LE 38,730
202 04| 1,500 1,500 0
01 2L Y| 1,500 1,500 0
O=HMMELRF 1,500
301 dEtEAZ 159,872 132,270 27,602
06 212t01 = 2| (4 HI 81,770 58, 100 23,670
O=HHMELRE 81,770
07 QBlx=& 0| 53,880 52,720 1,160
O=MM=ELE 53,880
09 HALAHIBEA = 24,222 21,450 2,772
O=HHMELRE 24,222
=HdSUHS JH= =4I 11,520,130 6,450,000 5,070,130
Jl 6,767,000
& 4,753,130
d=2HAE JI& & 289 15,000 0 15,000
201 et A | 7,000 0 7,000
01 AFR22t2ldl 7,000 0 7,000
OF=MN =222, JoAXNE S 7,000
202 04| 8,000 0 8,000




2N
X ZH -
L= B

el

=SS
25 Hs @@= AT A (222 /US)
=MW HE =4

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

01 = LH o4 1l 8,000 0 8,000
OEAIE PR &2 8,000

ZE RABXFINE MF(ZD) 2,663,830 2,800,000 A 136,170
J| 1,567,000
< 1,096,830

403 A X EHHS =0l A 2,663,830 2,800,000 A 136,170
J| 1,567,000
< 1,096,830

01 X HHMA=LE L 2,663,830 2,800,000 A 136,170
OZE SHEXZIE &xF 2,663,830
J| 1,567,000
< 1,096,830

F AZEEE MUF(21) 410,000 1,610,000 A 1,200,000
J| 240,000
< 170,000

403 Ut SHHSA=0l& 410,000 1,610,000 A 1,200,000
J| 240,000
= 170,000

01 HXSHMA=E X 410,000 1,610,000 A 1,200,000
o= ATESFE MF 410,000
J| 240,000
< 170,000

2E ZESSHE HES(=1) 2,142,000 2,040,000 102,000
J| 1,260,000
< 882,000

403 MtXISHHE X201 E 2,142,000 2,040,000 102,000
J| 1,260,000
< 882,000

01 XM A=2EE 2,142,000 2,040,000 102,000
OLE SE2sd HE=* 2,142,000
J| 1,260,000
< 882,000

45 S0EES(21) 1,699,930 0 1,699,930
J| 1,000,000
< 699,930

403 A X EHHS =0l A 1,699,930 0 1,699,930
J| 1,000,000
< 699,930

01 XM A=LE L 1,699,930 0 1,699,930
OZE a0t E= 1,699,930
J| 1,000,000
< 699,930

ZENFE HEX(21) 918,000 0 918,000
Il 540,000
= 378,000




R s R SE=an);
M AUE M = YAC AH(SAYBH/AS)
©9: WRANSUE HEEH (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 MtXISHHE =01 & 918,000 0 918,000
J| 540,000
< 378,000
01 XS M A=2EE 918,000 0 918,000
OZE7E HE* 918,000
J| 540,000
< 378,000
28 LEZEE7E (2 D) 306,000 0 306,000
J| 180,000
= 126,000
403 XSS X201 & 306,000 0 306,000
J| 180,000
< 126,000
01 AXSHMA2E = 306,000 0 306,000
O0YS YSTEEIH B 306,000
J| 180,000
< 126,000
28 2SS 57 B4 (=212) 135,860 0 135,860
J| 80,000
< 55,860
403 X SHHSA=0l& 135,860 0 135,860
J| 80,000
< 55,860
01 X SHMA=E X 135,860 0 135,860
O2E =2VESN E7F 2% 135,860
J| 80,000
< 55,860
28 AU SEFHSZ HE=(=1) 67,930 0 67,930
J| 40,000
< 27,930
403 MtXISHHE X201 & 67,930 0 67,930
J| 40,000
< 27,930
01 XM A=2EE 67,930 0 67,930
OZE AU SEM=2 HE= 67,930
J| 40,000
< 27,930
45 EHFIE Ex(=31D) 220,930 0 220,930
J| 130,000
< 90,930
403 A X EHHS =0l A 220,930 0 220,930
J| 130,000
= 90,930
01 X EHHMA=LE L 220,930 0 220,930
OZE Sd3INE E= 220,930




R s R SE=an);
M AU M W=E AT MEH(2JALBB/US)
©9: WRANSUE HEEH (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
J| 130,000
< 90,930
25 ZSHUAE HES(21) 51,000 0 51,000
J| 30,000
< 21,000
403 MtXISHH S =0l & 51,000 0 51,000
J| 30,000
< 21,000
01 XM A2EE 51,000 0 51,000
OZE Z=HUAE HES 51,000
J| 30,000
= 21,000
24P ACAUAE MF(21) 849,860 0 849,860
J| 500,000
< 349,860
403 XSS X201 & 849,860 0 849,860
J| 500,000
< 349,860
01 XXM 22 = 849,860 0 849,860
OYT ATALLH A= 849,860
J| 500,000
< 349,860
DY BEFNSEY M2 HES(=22) 339,860 0 339,860
J| 200,000
< 139,860
403 MHXSHHSA=0l& 339,860 0 339,860
J| 200,000
< 139,860
01 HXSHMA=LE L 339,860 0 339,860
OnY ZEgNsSstw HMs2 HE=> 339,860
J| 200,000
< 139,860
OIH AUME2 HES(=21) 510,000 0 510,000
J| 300,000
< 210,000
403 MtXISHHE X201 & 510,000 0 510,000
J| 300,000
= 210,000
01 XS M A=2EE 510,000 0 510,000
OQHM ALNM=2 HE > 510,000
J| 300,000
< 210,000
E=& IUMNSHEH HES=(2) 1,020,000 0 1,020,000
J| 600,000
= 420,000
403 A X EHHS =0l A 1,020,000 0 1,020,000




R s R SE=an);
M AU AR W= YAT MEH(SHLBEZ/HR)
el d=MSU HE =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
J| 600,000
< 420,000
01 X SHHXN2E = 1,020,000 0 1,020,000
OFd ICUNMSHH HE=> 1,020,000
J| 600,000
= 420,000
Sol S22 d32ZIE BEx(=21) 169,930 0 169,930
J| 100,000
< 69,930
403 A X EHHSH20IA 169,930 0 169,930
J| 100,000
= 69,930
01 X ESHHM U422 L 169,930 0 169,930
Oosd =7 8831 2= 169,930
J| 100,000
< 69,930
HE2IAZH(MSEED)(IIEH/IIE) 33,000 25,000 8,000
JlE &3l 33,000 25,000 8,000
2EM2E JI=22Z 33,000 25,000 8,000
201 €24 21,500 18,500 3,000
01 At 22l 21,500 18,500 3,000
OFN2Y AR 22l 21,500
202 044l 8,500 6,500 2,000
01 = LH o4 1l 8,500 6,500 2,000
OFMEE =UObI 8,500
203 ¥ =&l 3,000 0 3,000
04 FANSEHE=LH| 3,000 0 3,000
© 1521 Ol ot 250,000 128 3,000




